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2016 £ 4 A 21 B (K)

BEAE ROTYTF FTERHIRR :
HDCPLBR:  (58) (%)
B2 LA-0:
79k 1
%%
=L HiRE R Tob 1 GROSS = HDCP NET
B BAEK ZEX 37 38 15 0.0 15.0
B EE BEX 37 41 18 0.0 18.0
ML mH F— 40 39 19 0.0 79.0
M mE fsE 41 39 80 0.0 80.0
Shi E R 39 41 80 0.0 80.0
6 RE #HiX 41 41 82 0.0 82.0
M E@B = 40 42 82 0.0 82.0
8 Hig #ME 41 42 83 0.0 83.0
o £H EF 40 43 83 0.0 83.0
106 ZAR Ex 44 40 84 0.0 84.0
1ML E)II E 41 43 84 0.0 84.0
124 FHim IERR 40 44 84 0.0 84.0
1361 & Rig 44 41 85 0.0 85.0
1442 )1iE  BE5A 46 41 87 0.0 87.0
1561 ®E XA 44 43 87 0.0 87.0
164 3¥A 15— 43 44 87 0.0 87.0
1742 5% B£5h 42 45 87 0.0 87.0
186 WA EF 41 46 87 0.0 87.0
1961 F18 —F= 47 41 88 0.0 88.0
20 =8 A 46 42 88 0.0 88.0
2141 KE  &AI 45 44 89 0.0 89.0
224 lUA [E 44 45 89 0.0 89.0
2361 mAt B 43 46 89 0.0 89.0
2440 F E— 49 41 90 0.0 90.0
2541 st FE 46 44 90 0.0 90.0
266 fEx & 45 45 90 0.0 90.0
21 =5 FH 45 45 90 0.0 90.0
2801 Ay Hth 44 48 92 0.0 92.0
294 LA HER 48 4] 95 0.0 95.0
304 JER #B 46 49 95 0.0 95.0
3L FEIE #EE 42 93 95 0.0 95.0
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HDCPLBR:  (58) (%)
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[=Riva mEES T9b 1 GROSS HDCP NET
24 FEER MEE 52 44 96 0.0 96.0
33 AR —1= 49 48 97 0.0 97.0
AL A 1E=E 46 51 97 0.0 97.0
I FEHF FHik 50 49 99 0.0 99.0
364 FIU ERKX 48 51 99 0.0 99.0
3L &8H 1E— 50 50 100 0.0 100.0
38 A4 K IERE 47 53 100 0.0 100.0
G B =T 52 50 102 0.0 102.0
404 #BFH  EN 51 52 103 0.0 103.0
My EA XE 53 51 104 0.0 104.0
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